
2.21

Hand
feed

Adjustable Rounding & Chamfering Cutter Set

Spare parts:

Spacer set

#192 700 1

d

R

D

B

a

C

A

B

a°

B max.B min.C

A

B
R

B max.B min.

øD B1 min-max B2 min-max Code No. Teeth R a      ød              n
Complete 160 17-60 15-45 705 080 1 3 8 45° 30      4,800 - 8,400
Cutter A 160 18 705 081 1 3 8 45° 30
Cutter B 160 21 705 082 1 3 8 45° 30
Cutter C 140 53 705 090 1 3 30

Complete 154 15-60 15-45 705 070 1 3 5 45° 30     5,200 - 9,000
Cutter A 154 18 705 071 1 3 5 45° 30
Cutter B 154 18 705 072 1 3 5 45° 30
Cutter C 140 53 705 090 1 3 30

B1 B2

Multi Profile
system

LamelloFrame &
Panel door

JointingGrooving ProfilingRebating



2.22

Multi Profile
system

LamelloFrame &
Panel door

JointingGrooving ProfilingRebating

Hand
feed

EN847-1
EN847-2

EN847ALU

Aluminum

Adjustable Rounding & Chamfering Cutter Set

øD R Code No. B Cutter ød n
Set A1 113 2-5 752 002 1 19-44 1,3,4,6,1 30 7600-10000
Straight cutter 100 732 003 1 30 30
Left cutter 113 2-5 752 012 1 16 30
Right cutter 113 2-5 752 022 1 16 30
Covering plate 98 752 020 1 9 30
Set A2 113 2-5 752 003 1 39-64 1,3,5,6,1 30 7600-10000
Straight cutter 100 732 004 1 50 30
Left cutter 113 2-5 752 012 1 16 30
Right cutter 113 2-5 752 022 1 16 30
Covering plate 98 752 020 1 9 30
Set B1 118 6-10 752 004 1 25-50 1,2,4,7,1 30 7600-10000
Straight cutter 100 732 003 1 30 30
Left cutter 118 6-10 752 014 1 24 30
Right cutter 118 6-10 752 024 1 24 30
Covering plate 98 752 020 1 9 30
Set B2 118 6-10 752 005 1 45-70 1,2,5,7,1 30 7600-10000
Straight cutter 100 732 004 1 50 30
Left cutter 118 6-10 752 014 1 24 30
Right cutter 118 6-10 752 024 1 24 30
Covering plate 98 752 020 1 9 30

Wedge

Spare parts:

Allen screw Torx screwSpace set Allen keyT.C. Blade

B= 50 #1940035
S3

#193 375 2
M5x16

#193 370 0
M5x6.3

#310 125 0
50x12x1.5

#199 068 0
L=48

#192 790 1
D=60 B=14

B= 30 #192 790 1
D=60 B=14

#193 370 0
M5x6.3

#193 375 2
M5x16

#1940035
S3

#310 123 0
30x12x1.5

#199 067 0
L=28

R Right Left
T.C. Blades 2 300 950 2 300 950 2L
T.C. Blades 3 300 950 3 300 950 3L
T.C. Blades 4 300 950 4 300 950 4L
T.C. Blades 5 300 950 5 300 950 5L
T.C. Blades 6 300 950 6 300 950 6L
T.C. Blades 7 300 950 7 300 950 7L
T.C. Blades 8 300 950 8 300 950 8L
T.C. Blades 9 300 950 9 300 950 9L
T.C. Blades 10 300 951 0 300 951 0L

Code No.
Wedge 199 065 0 L=14
Wedge 199 065 0 L=14
Wedge 199 065 0 L=14
Wedge 199 065 0 L=14
Wedge 199 066 0 L=22
Wedge 199 066 0 L=22
Wedge 199 066 0 L=22
Wedge 199 066 0 L=22
Wedge 199 066 0 L=22

2 3 4 5 6 7 11

Available in 40mm & 50mm bore with bigger cutting diameter.



2.23

Multi Profile
system

LamelloFrame &
Panel door

JointingProfilingGrooving Rebating

ALU

Aluminum EN847-1
EN847-2

EN847

Hand
feed

Rounding - Over Cutter

d

B

D

t

R

øD R Code No. B ød n
3 752 423 1 20 30 6,400 -10,000
4 752 424 1 20 30 6,400 -10,000
5 752 425 1 20 30 6,400 -10,000

120 6 752 426 1 20 30 6,400 -10,000
8 752 428 1 20 30 6,400 -10,000

10 752 430 1 20 30 6,400 -10,000
3-10 752 410 1 (Set) 20 30 6,400 -10,000

130 15 752 435 1 20 30 5,400 -  9,000
140 20 752 440 1 25 30 5,400 -  9,000
150 25 752 445 1 30 30 5,400 -  9,000
160 30 752 450 1 35 30 5,400 -  9,000

Can be used with ball bearing ø100 code No. 191 540 1.

Allen key

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

Allen screwWedge

Spare parts:

#310 890 4
R=4

#310 890 3
R=3

#310 890 5
R=5

#310 890 6
R=6

#310 890 8
R=8

#310 891 0
R=10

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#199 032 7
L=17

#199 032 7
L=17

#199 032 7
L=17

#199 032 7
L=17

#199 032 7
L=17

#199 032 7
L=17

R = 4

R = 3

R = 5

R = 6

R = 8

R = 10

#310 891 5
R=15

#193 026 5
M6x16

#199 032 7
L=17

R = 15

#310 892 0
R=20

#193 026 5
M6x16

#199 097 0
L=24

R = 20

#310 892 5
R=25

#193 026 5
M6x16

#199 098 0
L=29

R = 25

#310 893 0
R=30

#193 026 5
M6x16

#199 099 0
L=34

R = 30

T.C. Blade



2.24

Multi Profile
system

LamelloFrame &
Panel door

JointingGrooving ProfilingRebating

Convert Profile Cutter

* Aluminum

Hand
feed

EN847-1
EN847-2

EN847

d

t

D

B

t

d

D

B

øD B Code No. Teeth R ød Max. t n
126 6 721 030 1 2 3 30 28 4,500 -10,600
128 8 721 031 1 2 4 30 29 4,500 -10,600
130 10 721 032 1 2 5 30 30 4,500 -10,600
132 12 721 033 1 * 2 6 30 31 5,700 -10,100
136 16 721 034 1 * 2 8 30 33 5,600 -  8,400
140 20 721 035 1 * 2 10 30 35 5,400 -  9,500
144 24 721 036 1 * 2 12 30 37 5,300 -  9,200
150 30 721 037 1 * 2 15 30 40 5,000 -  8,900
160 40 721 038 1 * 2 20 30 45 4,700 -  8,000

Spare parts:

194 111 0
T7

194 110 0
T9

194 003 5
S3

194 003 5
S3

194 003 5
S3

194 003 5
S3

R = 3

R = 4

R = 5

R = 6

R = 8

R = 10

R = 12

R = 15

R = 20

Allen key

194 101 5
T15

194 003 5
S3

194 003 5
S3

Allen screw

#193 420 0
M2.5x6.5

#193 425 0
M3x8

#193 430 0
M3.5x12

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

#193 026 5
M6x16

Wedge

#199 050 1

#199 050 2

#199 050 3

#199 050 4

#199 050 5

#199 050 6

T.C. Blade

#300 040 0
R=3

#300 040 2
R=4

#300 040 3
R=5

#300 650 6
R=6

#300 650 8
R=8

#300 651 0
R=10

#300 651 2
R=12

#300 651 5
R=15

#300 652 0
R=20



2.25

Multi Profile
system

LamelloFrame &
Panel door

JointingGrooving ProfilingRebating

ALU

Aluminum EN847-1
EN847-2

EN847

Hand
feed

Concave Profile Cutter

D

d

B

øD B Code No. ød R n
15 752 603 1 30 3 6,000 - 10,000
15 752 604 1 30 4 6,000 - 10,000
20 752 605 1 30 5 6,000 - 10,000

125
20 752 606 1 30 6 6,000 - 10,000
30 752 608 1 30 8 6,000 - 10,000
30 752 610 1 30 10 6,000 - 10,000
30 752 612 1 30 12 6,000 - 10,000
40 752 615 1 30 15 6,000 - 10,000

135 50 752 620 1 30 20 5,500 -  9,000

752 650 1 (Set) R3+R4
752 651 1 (Set) R5+R6
752 652 1 (Set) R8+R10

Allen Key

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

#194 003 5
S3

Spare parts:

T.C. Blade Wedge Allen screw

R3 #199 032 6
L=14

#312 400 3
R3

#193 026 5
M6x16

R4 #199 032 6
L=14

#312 400 4
R4

#193 026 5
M6x16

R5 #199 032 7
L=17

#312 400 5
R5

#193 026 5
M6x16

R6 #199 032 7
L=17

#312 400 6
R6

#193 026 5
M6x16

R8 #199 046 5
L=24

#312 400 8
R8

#193 026 5
M6x16

R10 #199 046 5
L=24

#312 401 0
R10

#193 026 5
M6x16

R12 #199 046 6
L=24

#312 401 2
R12

#193 026 5
M6x16

R15 #199 046
L=38

#312 401 5
R15

#193 026 5
M6x16

R20 #199 045 0
L=48

#312 402 0
R20

#193 026 5
M6x16


	cutting: 
	routing: 
	drilling: 
	sawing: 
	index: 


